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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 5009 2) 206 3 902 4 207
- 232 - 129 - 470 - 186 ”
3.
4,
5) 602 6) 804 7 805 8 309 >
- 340 -610 - 546 -_125 6
7.
8.
9 508 10) 504 1) 102 12) 805 9.
- 182 - 296 - 38 —_680 0
11.
12.
13) 408 14) 907 15 107 16) 106 13.
- 58 - 873 - 46 - 74
- - 14.
15.
16.
17) 805 18) 702 19) 906 20) 605 17,
- 736 -394 -712 - 241
I I - 18.
19.
20.
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 277
1) 509 2 206 3 902 4 207
-232 -129 -470 ;186 2 77
277 77 432 21
3 432
4 21
5 602 6) 804 7) 805 8 309 > 262
- 340 - 610 - 546 - 125 . 194
262 194 259 184
7 259
8. 184
9 508 10 504 1) 102 12) 805 0. __ 326
-182 - 296 - 38 - 680 o 208
326 208 64 125
11. 64
12 125
13) 408 14) 907 15 107 16) 106 13. 350
- 58 -873 - 46 - 74 2
350 34 61 32 14.
15. 61
16. 32
17) 805 18) 702 190 906 200 605 17. 69
- 736 -394 -712 ;241
69 308 194 364 8. 308
19. 194
0. 364
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C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
259 184 34 194 21
125 350 77 277 208 1.
326 64 61 262 432
2.
1) 5009 2) 206 3) 902 3.
- 232 -129 -470
S 4,
5.
6.
4 207 5 602 6) 804
- 186 - 340 - 610 &
8.
9.
) 805 8 309 9 1508 10.
- 546 -125 -182
11.
12.
13.
10) 504 1) 102 12) 805
14.
- 296 - 38 - 680
15.
13) 408 14 907 15 107
- 58 - 873 - 46
[ M ath Modified 3 1111105 ? 2(7) 2(3) 773 %7 6053|4740 33|
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